PreCalculus Acc *19-20 Name: Da UTlon) g
Dr. Quattrin J
Rational Test

CALCULATOR ALLOWED

Round to 3 decimal places. Score
Show all work.
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1. Find the zeros, VAs, and POEs of =335 5 5X2_ on xe[4,e0).
Show the supporting algebraic work. .
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derivative and algebra to support the critical values.

iz ‘Q‘Z) . &7’%&’\63 ez () . M_X‘Z.\.L(K,{_q
- o (NPt - (x l%‘f\l

onxe |:—4, 00) . Show the

2. Find the extreme points of y =

f\ < - ”Lf't@;z 4 L8

- 4825 (03
R A ( {*

(-, §25 - L3¢)

i

E’L) X(ZTL{ U = WD S-DLJ'TLJ./

t:u.) '\C:_(_,( ('— i ( _"5>



4x%-13x+10

3. Find the equations of the lines tangent to and normal to y=— AT
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4. Find the zeros, VAs, POEs and EB of y= I Y Show the
supporting algebraic work. - (‘-{ &Y Y ftlies D
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.8 Find the extreme points of y = I — 2 —36x 40
X’ —x° -

. Show the derivative and

algebra to support the critical values.
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PreCalculus Acc "19-20 Name: 50Lu 7L ‘<<'23

Dr. Quattrin
Rational ReTest
CALCULATOR NOT ALLOWED

Show all work. Score
0. Write an equation of a rational function that has x—intercepts at (5, 0) and
(-6,0), VAatx=3 andx=1,aPOE atx=-1, and a HA at yzg.
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7 Show the sign pattern and solve 3 ifbcz iix_i_ y >0.
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8. Find the traits and sketch y=

Domain: S;(;G% ( \/5)J(\/3 (o)

Zeros: (Z )
VAs: nOp

End Behavior (left): sy NIYY

Extreme Points: ( 4 525:; C1e3)
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9. Find the traits and sketch of y= on xe [—-4, 00).
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VAs: X=173 PQOEs: l/~-( \

End Behavior (left): ~o& End Behavior (right): 5 = —
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